Equations of a Line

How do you write an

N
SLOPE INTERCEPT FORM?

Y=mX¥+Db

— /

= slope = y-Intercept



\ocabulary

Slope Rise

Negative slope \
Positive slope /

No slope
Undefined slope

A
\ 4

A

y —Intercept

\ 4

Slope-interceptformat y=mx-+b

Point—slope format

Ordered Pair



How do you write the equation of a line
when given the slope and the y-intercept?
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How do you write the equation of a line
when given the slope and the y-intercept?
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How do you write the equation of a line
when given the slope and the y-intercept?
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How do we write the equation of this line?
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How do we write the equation of this line?
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Given points: (=R

E (4,5)
(4,5) and (-2,3) =
(X1, Y1) (X2, Y2) 5-_4:4-4+b

1=b




Glven points: Y=mx+b

M= -2 (4,-6)
(-2,6) and ( 4,-6) Y=mx+b
(X1, Y1) (X2, ¥2) L A
-6=-8+D

o _Ya-yil

_6-6 _12 6+8_8+8
4 —(-2)

y=—-2X+2

X2 — X1




